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la) What is the present USA per capita CO, emissions? / é /: /’}@‘Lﬁzyt_
1b) On the graph, show total annual national emissions of CO, for both

USA and China. Label the two curves, so I can distinguish them. You

don’t have to put the scale on the y-axis, we can just focus on

understanding the general behavior.

1¢) Please comment on why the two graphs look different and what this
means about each country’s development.
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2) Please look at the graph at right, likely made around 2006.
a) Please extend the graph to 2016. % €1  u.s consumption
b) Please describe the cause behind the recent trends that you 6 e -
just updated E
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¢) What do you expect to happen in the coming 10 years? Extend the graph into the future and explain
why you think this will happen.
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3) T'have a 4 kW air conditioner at my house in LA that I used last year for about 1000 hours (total running
time). Then I had the system cleaned and tuned for a $1000 fee and the following year, total run time
was only 400 hours to keep the house cool. Assume that the marginal electricity in California is NGCC.
a) How much money did I save in electricity bills the first year?

b) How much did my investment reduce my annual carbon emissions?
c) With a $200/ton tax on CO,, what would be the payback time for my $1000 upgrade?
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4) You hear someone say, “ when you burn diesel, the exhaust makes an ozone ho that causes climate yer

change.” Is the ozone hole problem the same as climate change?
a) If they are the same, please describe the situation completely. If they are different, please briefly

distinguish the two problems:
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b) How are we going to fix these problem and will it be difficult? Is there one fix
describe it. If there are different “fixes”, please distinguish the two.
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5) The economist says, “In order for the electricity market to w01k the decision maker must bear the full

cost.”
a) What do we mean by “the market is working™?
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b) In electricity use, who is the “decision maker™? W Le ;%ﬁ,& \7 /Z ceyon, 42 \
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¢) In electricity markets please fully describe an important “external cost”. a7 \7 |
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d) Is it important thedecision maker to be aware of the £ s n order for the market to work? 4__2)

Explain how th ometimes plays out in e]ecmcﬂy markets.
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¢) Describe an electricity-related erivironmental Justlce concern. é/z/
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f)  Explain‘how you could remedy these problems to make the {.Iecmcny market work better using |
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a) Nuclear power is largely carbon-free. Provide and support one more argument promoting nuclear
power.
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6) Nuclear Power: Pros and Cons.

b) Common arguments against nuclear power are “long lived nuclear waste”, and nuclear accidents

such as Chernobyl. Please provide information that supports this as a legitimate concern, puts it
in perspective, and/or dismisses it.
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c) Proliferation concerns: Please describe what we mean by proliferation concerns and the
particular role of Plutonium and the reprocessing of spent nuclear fuel.
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and in particular descnbe t .
difference between the costs of keepmg an old plant up and running versus building a new plant
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